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Solving Equations involving rearranging
Steps:

1) Rearrange equations to be in the form Sin(x) = a number

2) Solve using the unit circle of graph

Note: ‘A’ could be involve more solving to find ‘x’

Eg 1:   Solve:  3Sin(x) + 5 = 7    where  0 < x < 360°

Eg 2: 
Solve:  4Cos(x) + 1 = 4.5    where 0 < x < 2π
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What is the  graphical representation of these equations?

1)  Solve 3Sin(x) = 2
Where does the y = 3Sinx graph have y = 2?
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Find all solutions between x = 0 and 2π
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2) Solve 3Cos(x) = -1
0 < x < 2π




1) Solve  3Sin(x) = 1.6   where 0 < x < 360°
             Sin x =

    x = 

    x = 


2) Solve  Cos(x) + 5 = 5.14    where 0 < x < 360°

   Cos x =

        x = 

        x = 


3) Solve  4Tan(x)  – 2.5 = 1    where 0 < x < 360°

4) Solve  2Sin(x) + 1.4 = 3   where 0 < x < 360°


Find the solutions in degrees 0 < x < 360°
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Find the solutions in radians 0 < x < 2π
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1) Solve  4Sin(x) = 2.6   where   0 ≤ x ≤ 360

2) Solve  Cos(x) + 3 = 3.28   where   0 ≤ x ≤ 360

3) Solve  2Tan(x) + 2 = 5.34   where   0 ≤ x ≤ 2π
4) Solve  2 + Sin(x) = 1.85   where   0 ≤ x ≤ 2π

5) Solve  0.5Cos(x)  + 3 = 2.8   where   0 ≤ x ≤ 2π
Solving Trig Equations (B) Solutions
1) Solve  4Sin(x) = 2.6

  Sin(x) = 0.65

x = Sin-1 0.65 = 40.4°
x = 180 – 40.4 = 139.5°
2) Solve  Cos(x) + 3 = 3.28

     Cos(x) = 0.28

x = Cos-1 0.28 = 73.7°
x = 360 – 73.7 = 286.2°
3) Solve  2Tan(x) + 2 = 5.34

     2Tan (x) = 3.34

       Tan (x) = 1.67

x = Tan-1 1.67 = 

x = 

Solving Trig Equations (B) Solutions

4) Solve  2 + Sin(x) = 1.85
     Sin(x) = - 0.15
  (ignore negative)  Sin-1 0.15 = 

x = 

x = 

5) Solve  0.5Cos(x) + 3 = 2.8
     0.5Cos(x) = -0.2
         Cos(x) = -0.4
(ignore negative)  Cos-1 0.4 = 

x = 
x = 
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Trig Equations: Practice





Theta


Ex 34.05
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Two Step Problems A
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Ex 34.05








Two Step Problems B
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Trig Equations: Rearranging
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Ex 34.05
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